3 9 s HE52H 20 4% (20224)
[4.14]
4.28 S; known ; P=300 N —-, Q=300N —, a=02m, b=02m ¢=08m «
unknown ; reaction A, C
= RUE #HY, Jo BE, v {9 1&2 M; A& A %= (F.B.D.)
A; (@) a =0 TCV Cx
+)E My =0 ; P
-¢c A+ a P+ (a+b) Q=0 —P
oy = aP + (a+b)Q c b > Q
C
_ (02m)(300N) + (0.4m)300N _ 1A ~ A= 295 N 1
0.8 m
—SF =0 ;
C.+ P+ Q=0 = ¢ =-P-@Q=-(300N) - (300 N) = -600 N
T%F, =0;
¢, +A4=0 = (C,=-A4=-225N
c=JC?+C? = V(=600 N)® +(—225 N)* = 640.8 N
0 = tan’! gy = an*% = tan"1(0.375) = 20.56°
= C =641 N v20.6°
(b) o = 30° M; A=A %=(F.B.D.)
+ISMy =0 ; TCy c.
-¢ A cosa + (a+b) A sina a_’
+a P+ (atb) Q=0 —> P
oy = aP + (a+b)Q c b
ccosa — (a+b)sina ? >
_ (02m)(300N) + (0.4m)300N ~A
(0.8 m)cos30° — (0.4m)sin30°
= 365.2 N = A = 365 N ~260.0°
—SYF, =0 ;
C,+ P+ @+ A sina =0
= (C,=-P- @ - A sina
= —-(300 N) - (300 N) - (365.2 N) sin30° = -782.6 N
T%F, =0;
¢, + A cosa =0
= C, = -A cosa = —(365.2 N) co0s30° = -316.3 N
C=y/cr+C? = V(=786 N)* +(-316.3 N)* = 844.1 N
6 = tan™! g‘? = tan’1% = tan"'(0.404) = 22.0°
= C =844 N v220°
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